N = 0l & At & Ml A

A J1= 0l A

M Weegs(sgzellla)

tel: BEAE(SEg2eI3) (Sl & &)

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
JI =0l & 2t 15,443,909 15,443,909 0
HeRags(sgzellla) 15,443,909 15,443,909 0
SENE(Sg2LII3) 3,683,436 9,033,436 5,350,000
S22 2L(0X) 3,683,436 9,033,436 5,350,000
602 Ol Xl = 3,683,436 9,033,436 A5,350,000
01 0Ixl= 3,683,436 9,033,436 /5,350,000

Oosgaelllz WX

Z & 3,683,436,000& 14! 3,683,436 9,033,436 5,350,000
WEHAXES(SE22012) 11,760,473 6,410,473 5,350,000
sz HE= 11,350,000 6,000,000 5,350,000
701 JIEtSI HSEES 11,350,000 6,000,000 5,350,000
01 JIEteI HE &= 11,350,000 6,000,000 5,350,000

OZZ2ZH9 B 2AsHLHXE
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= 5,

X
,000& =14 5,350,000 0 5,350,000




